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ECO-11 

C5\ BACHELOR'S DEGREE PROGRAMME 
\..C) 

Term-End Examination 
O 

December, 2014 

ELECTIVE COURSE : COMMERCE 

ECO-11 : ELEMENTS OF INCOME TAX 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory and attempt any three 
questions from the remaining questions. 

1. 	From the following particulars of income of. 14 
Shri Shailendra Dutt, a government employee, 
compute his taxable income from salaries for the 
assessment year 2013-14 : 

Rs. 
Basic Salary 4,20,000 
Conveyance Allowance 40,000 
Family Allowance 60,000 
High Cost of Living Allowance 83,500 
Bonus 1,15,000 
Entertainment Allowance 67,000 
Rent free unfurnished house with a rental value 
of Rs. 18,000 per month. He contributes 12% of 
his salary to statutory provident fund. 80% of 
conveyance allowance was spent in performing 
his duties. As per government rules, the licensing 
fee of house shall be equal to 10% of basic salary. 
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2. Explain the term 'Assessment Year' and 'Previous 4, 8 
Year', and state the exceptions to the rule that in 
a particular assessment year the income tax is 
charged on the income of the previous year. 

3. (a) Mr. Ali, a tailor, provides the following 
information regarding various payments 
made by him during the previous year 
2012-13 : 

6, 6 

Rs. 

(i) Contribution to LIC Mutual 	8,000 

Fund 

(ii) Insurance Premium paid on 	4,000 

the life of father 

(iii) Contribution to statutory 	25,000 

Provident Fund 

(iv) Insurance Premium paid on 15,000 

his own life (sum assured 

Rs. 70,000) 

(v) Repayment of loan taken 	20,000 

for purchase of a house 

Compute the rebate of tax allowable under 
Sec. 80 C for the assessment year 2013-14. 

(b) Distinguish between short-term and 
long-term capital gain and state the rules 
for taxation of short-term capital gain. 
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4. 	(a) Compute Mr. Mahindra's taxable income 6, 6 
from other sources. 

(i) Ground Rent received Rs. 6,000 

(ii) Interest received on deposit with IFCI 
Rs. 1,300 

(iii) Income from subletting a house on 
rent Rs. 5,000 for which the amount 
paid as rent was Rs. 3,000 

(iv) Dividend received on equity shares of 
an Indian company amounted to 
Rs. 3,580 

He paid bank commission of @ 1% for 
collecting dividends and spent Rs. 400 for 
collecting rent of the house. 

(b) State the exempted incomes from house 
property. 

	

5. 	How is the residential status of an individual 8, 4 
determined ? Explain the scope of total income 
of a resident and a non-resident individual. 

	

6. 	Write short notes on any two of the following : 
	6, 6 

(a) Casual Income 

(b) Partly agricultural income 

(c) Less Tax and Tax Free Securities 

(d) Indexed cost of Acquisition and 
Improvement 
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1.*.a11.-ii I 

ZITTrET chi 4st0-1 

"crftair 
f47:11zit, 2014 

Litcktichi-1 : 	uhrti 

: arrErwt TE6 w9' 

FITT7 :2 z7v - 	 3fg1W717 3.7.W :50 

ViT : 	q.sell 1 ire ti .?)ti Trr 	 3.  5g9Y 
dill rZYq- / 

1. 	 c7r, Qchi--*-r4 	 31-P4 T fqq113T 	14 

I 	 3TIVR T{ 	fffqt{7 	 
2013-14 t 	ka7 ci-) t 71174 	779T 

tdi 	 4,20,000 

'TTff 9171 	 40,000 

tai teb 1-171. 	 60,000 

	fiqk cqg 14-ffr 	 83,500 

1,15,000 

5.1-M 	 67,000 
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at1 f-*-Trzrr -13-4?[ 311pif a 1-11,11 frffr .E311 t 

dr-cid f*----tRIT 18,000 T.     t I a 	taff 
'WI 12% Trif--4fw 41f 1ST r-irq (SPF) z1)-Tr7 WcdT t, 

P-TT qr69' 9-1-4 	80% 371-4 7F1T 	chii-f 	ti.olq 

owlTT-d1 t I TrtTh-f# f91 31-fTR ch 	 a;) 

15t1 Mta-9. 	10% 	4-11-11 ,11 ,i1 	 

2. 	ffftTi-Tur 	P-Tr Trff abr 4C1 oqi(sql 	-ff21T 
	

4, 8 

fa-714 rn1 ' 1-) fqfvrtz 	fiqi-Tur a 	Tra 

31171 	aiTzr cht (1411q1 ,311c11 	311:1-q1 $iT 3 

--I•r177 I 

3. (a) f=T.3 cf- , 	i cf Zr1t t, TM  a 	 2012-13 t 	ti-f 6, 6 

wvrr7 3174 rE4i f-14--trorwt 	T519WcdT 

t : 

T. 

8,000 

4,000 

25,000 

15,000 

20,000 
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4) 	t fff NiTir (=Pi 2013-14 -k Fri 	 97T 80 C t 
atd-Ti-ff 34 fi:r .  Tr*-4 	--t'r-d'r (rebate) cilel 
JILIN' 1.1-A7 I 

(b)3-17-1---i-4 21.1 q14ch 	1 (411tA-1-117 711-T 4' atd-T 
-q--d-r-47,.ffzIT31T1:- 1W1-0ti iN-i-riff -14T 	sh(IN-14 
fazA r .---u •wf-A7 1 

	

4. 	(a) -4:1ftT chi `3-T-4:{31-)--d 4 qi cr) t *1-z1 3-1-FT' ch-1 6,6 

+11-Ii-H 1f77 : 

(i) mr-ci p-ii '04 f*-7171 6,000 T. 

(ii) IFCI .4.  7-41 7Tf-F ITT -91171 3-1-1 -67T7 
1,300 T. 

(iii) Q=h ---4 1- =hl-1 31-0.11 -  (subletting) 4 
3T71 31T 5,000 T. f*7-1-zfT "fq4--  3q4 
3,000 T. -k f*-717 1T -r-.-zfT p-1T 2TT I 

(iv) r, ITR-d-1-zr ttratk tzral tziti TR 11'.{ 
t .c,i4 	51141 	-U1713,580 T. 

3-4-4 rsi-c15 *1 q:e iTT 1% It a-) H 1-1 chl 
ffiff fwzrr2TI 4-101,1-1 wr f-*Trzrr -o-  

400 T. cqq f-*-7 I 

(b) 	V Ttcrr7 4 -51TET1 qi Tuta-zrr .1.) k41a-ci 3i0 -Wf 3--a.  
SRI 

	

5. 	-) :IfEE (individual) chl f9-471 f.-2.Tf7 U -f9N-fft-a• 8, 4 

an1 Aid 	t? 	en fir ft -cr4 1-> 3fra-q-Rt -&i-r-  4;1 To- 
3Trzf,a.;1 nut-at 	1;1 .q1(5,11 1r--471 
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6. 	F-14-1 ro 	d 	f 	TAP:a duA 	 6, 6 

(a)3-ITTrRTIW 3-171-  (Casual Income) 

(b) 3477: 3-Trq 

(c) cht1Wf (Less Tax) -UM ch . -gpf (Tax Free) 

(d) 5T71 	airTITT ctA =hl tcichich timid 
(Indexed cost) 
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